PART - A
GENERIC AREA
Choose the mosi appropriate option,

(Q. No. 1 to 42)

Directions for question number 1 and 2 :

Study the following information care

fully and
answer the question

Group of girls’ gossip with each other. All are
sitting surrounding a round table, The n

ame of
the girls are Shiksha, R

adha, Chinu, Snigdha and
Rani. It is not necessary that they are sithing in
the order of the name as mentioned here. Radha
is second to the right of Shiksha. Shiksha doesn’t
sit with Chinu. Rani is second o the right of
Radha. Radha sits near Snigdha.

1. Who sits to the left of Shiksha 7

AA)  Rani
(B) Radha
(C) Chinu

(D) Snigdha

2. If Radha and Snigdha change their places
then who will be second to the left of

Rani ?
(A) Radha
B) Snigdha

(C) Shiksha
(D) None of the options

3. A is the father of B and C is the son of D,
E is the brother of A. B is the sister of C,
How is D related to E ?

(A) Daughter
(B) Brother
\AC) Brother in Law
(D) Sister in Law

i . R emh saidd,
1 Pointing towards a picture, Fam

“That picture is of slster of s’,f;m:!';'r':i:;:
l e wis Lha

father of my maternal uncle .Ii “m-a.]. .

ludly in the picture related tolar

(A)  Mother’s sister

(B) Cousin (maternal brother)

(€) Cousin (maternal sister)
N

(D) Father's sister

Directions for question number 5 to 7 :

Two statements followed by four rmr(hfsm!;b
riunbered from (1) to (1V) are given. You have to
take the two statements to be trie even if these seem
to be at variance from the commonly known facls.
Read all the conclusions and decide which of the groent
conclustons fogimﬂy follow from the two given
statements rIr'sregnrdr’ng comimonly knewn facts.

5. All Shoes are Socks
Some Socks are Gloves
Conclusions :

(I)  Some Shoes are Gloves

(II) Some Sacks are Sho
(IITy ~ All Gloves are Sh

(IV) No Shoes are Gloy

(A) Only (1) follows
(B) Only (II) follows
(C) Only (1) follo
(D) Only (IV) follow
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All Boys are Gia
No Girl is a My
Conclusions &
(1 MNoBoyi
(1 Some Bo
(11) Al Girls
(TV) Some M

(A) Only (T
(8) Only (I
~

(C) Al foll

(D) None |

All Sentenc
All Words |
Conclusior
M Allw
(I) Alls
(L) All:

(IV) Som

(A) Om
® O




ure, Ramesh sard,
ar of grandson of
wcle”. How is that
wd to Ramesh ?

rother)

ster)

‘Sto7:

tr conelusions
. You hae to
o of these seent
i known facts.
ich of the given
Je fwo 8’.!"’”
own facts.

6. All Bovs are Girls
Mo Girl is a Man
Conclusions :
() No Bov is a Man
(1

Some Boys are Man

(I Adl Girls are Bovs
(IV) Some Man are Boys
(A)  Only (1) follows
% (B)  Only (I) follows
| (€)  All follows
| (D)  None follows
7 All Sentences are Words
All Words are Alphabets
Conclusions :
(Iy All words are sentences
(I)  All sentences are alphabets
f (1) All alphabets are words
H[ (IV) Some alphabets are words
| (A) Only (1) and (11I) follows

I (B) Only (1), () and (IV) follows
| «/ (C) Only (II) and (V) follows
1 (D) All follows

8. If ‘CONTEMPORARY’ is coded
as NOCTEMROPARY then
‘BODARDSITAND' is the code of which
letter ?

(A) DOBARDTISAND
(B) BODDRASITDNA
(C) DOBDRATISDNA
(D) DOBARDSITAND

L

10.

11.

12.

according to the cone luslans

AAB) Only (1) follows
(€) Both (T) & (II) follows
(D) None follows

(A) 52
_(B) 56
€ 96
(D) 128

Foler the stalement and wolve the question
Statement |

Goame Plgeons are Bird;

Gome Brds are Allve

Conclusion :

(I) Beme Pigeonsiare Alive

(11)

Some Birds are Pigeons

(A)  Only (1) follows

Find the number which does not fit into
the series 8 12 20 32 50 68.

(A) 20
(B) 32
(C) 68

\}D) 50 o

5 16 49 104 181 _

(A) 271
(B) 298
(C) 280
(D) 281

14, 28, 20, 40, 32, 64,
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Wha
In {l.l ertidn code, ¢ ONSIDHR {y written | 15, What is the respective ratio between the 19 A 0
e .r\MN“L'I:H- how 14 "MONOPO] Y total number of students taking part in :
Written in that oo 7 Badminton and Table Tennis together and
those participating in Basketball and
(A) 1 NMNZ MIPPO |-'.1|[;:i"=nll lnp)rk}}}n:r 7 £ /
(B)  NMNLzZMPQ (A) 11:13 B
(€)  POPNXKNO (R tG il
= .18
(D) NMNLXKNO ol i ]
(D) 29:28 .
% {1
irections f i
S tor question number 14 to 18 : 16. What is the approximate average of (
Answer the questions on i number of participants in Handball, v
- te basis 1 P P
miformation provided - e ithe following Badminton and Basketball ?
P : |
A) 162 N
T'.he_- students of 5 school Participates in (&)
VAarious sports activities, the distribution of \}B ) 163
the same is given below : (©) 104 20
Football - 17 % (D) 189
Handball - 26 %
17. The number of students takin >
: ) : B Part in
Badminton - 16% Basketball is approximately what Percent
| more than those taking part in Bootat 2
Table Tennis - 22%
\/{A] 10.84 %
Basketball - 19% (B) .
Total number of students in the school are Q)
800.

What is the number of girls who take part
) in handball, if the ratio of boys to girls is
= 310 respectively ?

(A 48

(B) 80

©) 78

(D) 160

%

=B
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s ratio bebween the
:nts taking part in
fennis together and
n Basketball and

1ate average of
ts in Handball,
i ?

iking part in
what percent
in Football ?

idents in
at is the
r of boys
unz

(A)
(B)
(©

(D)
N

20. Complete the following series.

4,27, 256,:3125,

(A) 46656
(B) 6250
(C) 800000
(D) 1024

Ramesh’s father is a paediatrician. Ram's
father is a trader. Krishan's father is a
school teacher. Krishan falls ill. Where
should his father take him ?

)

/ (A) to home

(B)
(O to Ramesh's father

to school

(D) to Ram's father

19.  Whatis the total number of ways to reach 22. Five people ;
A to Bin the network given ? <+ is standing next to Karan but not adjacent
[ to Tanuj. Radhika is standing next to

are standing in a row. Aman

Priyanka who is standing on the extreme

left and Tanuj is not s
Radhika. Who are Stan
Aman 7

(A)
(B)

J©
()

tanding next to
ding adjacent to

Radhika and Karan

Karan and Tanuj

Karan and Priyanka

Radhika and Tanuj

e
vl
R 0 T

14
10

23.

(A)
(B)
© 9
®) 3

1f 5% income of P is
of Q and 10% income G
income of R. 1f incon
what are the incoz

respectively ?
(A) T 4000 and X 300
\/(B) Z 12000 and ¥

24.




A businessman purchases an item al a
certain price and marks its price up by
30%. He sells the item at a certain discount
on markup price and makes a net profit of
4% on the whole transaction, Find the
discount given by businessman on markup
prn:l_'.

(A)
(B)
©
(D)

w

5

10

15

Directions for question number 26 to 29 :

Answer the questions on the basis of the data given
below

O is X's father
¥ is Z's mother
P is s mother
X is Z's sister
26. How is O related to Z ?

(A) Brother

(B) Cousin
\/(C} Father
(D) Uncle

27. How is P related to X ?

(A) Mother

28, How is Y related to o7

(A) Wife
\/
(B)

(©)
(D)

Sister
Maother
Daughter

If P has a daughter Q, then how is Q

related to Z 7
(A)
LV
(B)
(C)
(D)

29,

Aunt
Mother
Sister

Daughter

Considering 5 as the 1° element in the
sequence 5, 11, 23, 47. What is the pth
element in the sequence ?

A 191
(B) 172
(©) 342
(D) 106

30.

A Class has 100 students with roll number
from 101 to 200. All the even numbered

are divisible b

p\\of ‘
Sl i T
C‘;lbm

\/(B) Grandmother (B) 45
(C) Sister © 51

(D) Daughter D) 62
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students study Physics, whose llnumber .

z 1000
cm:np(lu.!
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\
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. T 1000 doubled in 1o years W hen Dircctions for quuestion
( ) C““‘!’L‘“_“d?“ annually. HoW many more Relationshap Polieett different lemnts 18 ;mruuh'li
£ years will it take to pet another 2000 | i the statenents: [ statemen b e Jhll'“fi'f'II by
L"‘“‘P“m“] nterest 7 conclusions: Sy the Copelusions pased on the
(A) 5 years Qioen statement el chuost the correct ANEIEr 5
(B) 10 years ‘i—;/ <
(© 3 years SED = U wex V==X Y )
D) 4 years (.‘nncl:slumfr: . -.i!’/
<=
0} %1‘1'/
33. Ramcan doa piece of W orkind days. and « »
Sham can do the same in 10 days. With O (&) i anly conclusion (1) follows ;/4
!.he’hP_lP of Karan, they Imi::hed the work ®) oty onclusion ) fo owWE S
| in 2 days. How many days wo! it take . ! .
Karan to do the otk (©) if neither (1) nor (1D conclusion
i (A = follows
I v® e D) i poth (1) and (1) conclusions follow
. @®) 10 days
! I| [ESadys 36. P¢=Q¢=R>5;T:-= R6>=U
‘| @) 20 days Conclusions -
; @ T=5 <
34. Choose the alternative to decide whether @m U< R N
the data giver in the statements is/are
sufficient to answer the question based o (A) if only conclusion (8 follows
the following information: @®) ifonly conclusion (in) follows
Five persons ABEP and E are sitting © if neither (1) nor (1 conclusion
in a TOW- who 15 sitting i0 the middle ? follows :
Statements {\D/) i both (1) and (1) conclusions follow
(@ Eisto the left of B.
(I1) Bis'm-betweenCarldE. 37, AC=B4C?=D:C4=E4=F
() D is in-betweer Eand A. Conclusions &
: : 1 g>=D
Choose which of the follow1ing will be @ "
sufficient to find out who is sitting i the m; AZE
middle ?
A) if onl conclusion follow
() Only (O and @ o i U
®) e an @) if only conclusion (1) foll
Only (If) an T ;
©) if neither (1) nor (IL)
(©) Only (1) and (1) follows |
/(D) Al () and (111 @) ifboth and (1) cond
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Directions - Question number 38 1o 42 are |

based on tollowing information

'l?horv are bwelve persons mamed O PO, R, S
LN WONLY aned 2 who live inoa multbstorey
apartment.  The apartment has three Hooes and
cach tloor has four [hese 12 parsons
who live ina set of 12 Rooms can be represented
by a Matrix of 3 rows and 4 columins, e

TOOMs

Q lives immediate et below diagonally of ‘qll
a person who lives immediate left below -

diagonally of T,

S lives immediate lett above diagonally of

a person who lives immediate left above

diagonally of Z.

X lives immediate right above diagonally

of a person who lives immediate right
below diagonally of O,

P lives immediate right above diagonally
of a person who lives immediate right
above diagonally of Y.

T lives immediate left above diagonally of
a person who lives third to the right of V.

Q lives immediate left of a person who lives
two rooms below W in the same column.

R lives to the immediate right of a person
who lives immediate right above
diagonally of Q. Z is living to the
immediate left of U who receives ¥ 46000

as salary,

The person who live on one of the floors
(left to right) receive salary in the same order
Z 50000, T 48000, T 47000 and ¥ 46000.

The person who live on one of the floors
(right to left) receive salary in the same
order T 45000, T 38000, Z 35000 and

< 40000.
The person who live on one of the floors

(left to right) receive salary in the same
order Z 37000, T 42000, ¥ 36000 and

T 43000.

40.

41.

o salary rec eived by @8 persom

/b 18 th
What I8 | 1o the r"!,hl of 57

Wil" |W"" BTG

7 5000

(A)

(m) 7 45000
(C) T a7000
() T 3E000

Who among, the following 1ives third to the

left of U ?

(A) @

(B) Q

<) T

(D) 5

What is the sum of salaries of Y and P ?
(A) T 90000

(B) ¥ 99000

(©) % 93000

(D) X 89000

ne

Wha

t is the sum of the salaries received

42,
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PART - B
TECHNICAL AREA

Choose the most appropriate option.

(Q. No. 43 to 120)

error,

In ICMP, in case of time exceeded
, the

when the datagram visits a router
value of ime to live fieldis
(A) Remains constant
(B) Decremented by 2

\}C) Incremented by 1

(D) Decremented by 1

44. Which among the following types of Server
filters Website Traffic ?

(A) POP Server
(B) Database Server
(C) Proxy Server

(D) Mail Server

(SALL) comparison operator means :

(A) more than the maximum value in the

subquery

(B) less than the minimum value in the

subquery
(C) is equivalent to IN

(D) none of the options

G has nl states and the LALR pa

o a grammar
rser for G
nnl

Assume that the SLR parser f

has n2 states. The relationship betwee
and n2 i8¢

(A) nlis necessarily less than n2

N7

(B) nl is necessarily equal to n2
(€) nlis necessarily greater than nZ

(D) none of the options

Which of the following, is not a part of the
Test Implementation and Execution

Phase ?

(A) Creating test suites from the testcases

(B) Executing test cases either manually
or by using test execution tools

(C) Comparing actual results

(D) Designing the Tests

What is meant
algebra staten

(A) Compt

A/Page 9
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49.  During OxCeplion handling, which ol the

following statemoents hald true ?

\}A) Single tey can have multiple
associated cateh with it

(B) A Single Catch can have multiple try
associated with it
(C) Finﬂll_\' block execute only when the
class is inherited
(D) Fora given excephion, multiple catch

can execute

50. Some code Optimizations are carried out
‘;\ on the intermediate code because :
(A) they enhance the portability of the
compiler to other target Processors

(B) program analysis is more accurate

" on intermediate code than on
machine code

(C) the information from data flow

analysis cannot otherwise be used for

optimization
(D) the information from the front end

cannot otherwise be used for
optimization

1

rm;ramrnina

— .
o of the dg,,rn.nmk)pumal o » i ‘
I CaN , value of an P i
e ) -prum_-h the va 1\ J.A
i :.-nl computec in I » ¢
(A) Top down fashion o
(B) Bottom up fashion e
(C) Left to Right fashion
- Wha
- on ,
(D) Rightto Left fashi " s
v A
. 1e nat rue for tree (A)
53. Which of the following 15 \/(B)
and graph ? ®
(A) A tree is a g]'aph 3
aph is a tree
iy cle -
AC) Tree can have a cy I\jj- ‘;
(D) Treeis a DAG z ;
{
OR gates are
AND, OR and Xt ) |
54.\ How ¥ : tion of full -
O required for implementa | \/((
; dder ? |
K .,
Co») 1,22
V 59.
® 221 »
|
© 822

3, 0;1

(D)

i =06,13=05and 1), =08, the | 55. A 26-bit address
211‘:1?0?21‘122?5 :r13 s accessible
(A) 0.47 @) &
V4
(B) 0.40 ()
(C) 0.74 ©) 18
(D) 0.64 (D)
A/Page 10 SPACE FOR ROUGH WORK
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SRD stands for

56.

= V‘M
B
(©) Software

Structured Requirements Diagram

Saftware Requirements Definition
Definition

Sructured Requirements
Requirements Diagram

@

Find the mode of the {ollowing data -

18-24

o [
Freqg-
uency

()
(A) 2022
A Wwhich of the following problem is not NP (B) 19.47
complete but undecidable ({ (€) 21.12
(A) Partition Problem (D) 20.14
\/(B) Halting Problem
(©) Hamiltonian Circuit 62. A digital signature is required :
(D) Bin Packing (A) for non-repudiation of communication
\/ bya er
) T\ (B) forall e-mail sending
\_5/8. A stack can be implemented using queus, (C) forall DHCP server
; but then we need to use atleast : .
= & @) 3 (D) for FTP transactions
queues
(B) 2queues @ What is the product of following matrix _
@, (C) only one queue is sufficient using Strassen’s matrix multiplication ‘!
: algorithm ? -
(D) none of the options \
= [1 3}
5
59. Adding the style attributes in HTML S
S elemets: i knowntobe _———— (&) C;=808
(B) Inline ©) Cll:1
(C) Outline (D) Cn=24
) External
B @ Which of
complexity
60. Terminthe MVC architecture that receives X problem _
events is called number Of
el respectivel
eceiver
) (&) O
Controller .
V(BJ ®) O
(C) Transmitter © of
(D) Modulator D) O
A/Page 11 ' ' SPACE FOR ROUGH W¢
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(A) Traversal
\/( B) Search

(©)  Sort

(D)  None of the options
66. Peephole Optimization js 4 -
(A)  Loop Optimization
(B) Local optimization
(C©) Constant folding

\}D) Data flow analysis

67. IZXhnghE gne of the following statements ig
(A) Context-free grammar can be yged
to specify both lexical ang Syntax
| rules,

\/(B) Type checking is done before parsing,
(C) Highlevel language Programs can be
anslated to different Intermediate

Representations.
(D) Arguments to a function can be

Passed using the program stack.

Which of the following construct is not
Supported by Java Server Pages ?

(A) JSP Directives
(B) Jsp Scriptlets
(C) JSP Actions
/(D) JsSP Reaction

se in LR(0)

: t can ari
Type of conflicts tha 2
@ :e)::E.niques s f;
?I( ) educe confli
(A

P
©)

Shift-r
2
shift-Shift conflic ol
#ghift-reduc
Both “Shi :
P ift-Shift conflic

None of the options

onflic t” &

(D)

o cache (off-chip)

: singl it rate.
70.\ A comp;te: ﬁjistiine and a 95% o
with a 3 n.

time. If
ns access 5
Main memory has a 5?19 with a 0.6 ns hit

uter’s
d a 98% hit rate, the comp
time an

effective access time :
(A)
(B)

S
(D)

2.8 ns
5.5 ns
0.7 ns
None of the options

71 CSS property.allow to wrap
>< a block of text around an image.

\[(A} wrap
(B)

push

72.

A/Page 12




Aﬁ'omalies are avoided by splitting the Q The R
73 offending relation into multiple relations: " yelated to fragmentation.
is also kno as (A) M
ap
(A) Accupressure ) Skt
Decompositi .
B) ec po-llmn © o5
= i () 1d Ll
- dentiier
(D) Both decomposition & pn-,u)mpmitiun
er encoding in HITMLS

Fam i not

fleld in 1PvA datag

: 76. » default charact
74. What is the output of following program 2078 —,2“ default charac
abstract class Sum 7\ . ___—_ -
( (A) UTE-16
TE-3
public abstract int sumOfTwo(int nl, int nd; (B) UTF 2
public abstract int cumOfThree(int nl e n2 intnd) (©) UTE-8
public void disp()l (D) 150O-8859-1
BYSkEm.Gut,pﬁnun(‘Mcll\wl ol class Sum'};
1
: 77. Black Box Software Testing method focuses
class DemoAbstract] extends Sum ' the :
{ N on the :
- : A) Boundary condition of the software
public int sumOfTwao(int numl. int num2) /
{ (B) Control structure of the software Y
return numl +aum2
) (C) Testing of User Interface only J
[pnbh-: int sumOfThree(int numl, int aum?, int num3) (D) Cyclomatic Complexity A
return nu.ml+nu:m2+num3; t
public static void main(String argsL 7g. Which of the following scenarios may lead
Sum-obj=new DemoAbstractl(); to an irrecoverable error in a database
Systentuutprinﬂn(oijsumofrwc?@: 7)) SyStE‘lTl ?
Syszem.out.prlntln(obj.sumOFTh.rEe(d, 3, 19));
obj.disp(); (A) A transaction writes a data item
! after it is read by ittec
I transaction.
(A) 10 X
V4 26 (B) A transactio
Method of class Sum it is read
(B) 26 transaction.
! . © AtranSacti’ ads a date
Method of class Sum it is wril
(©) Method of class Sum transactior
fg (D) A transadl
: it is wril
(D) Error transach
A/Page 13 SPACE FOR ROUGH WORK
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80.

o

In the Model-View-Controller (MVC)
architecture, the model defines the

(A) Data-access Ia yer

(B)  Presentation layer

Vi
(D)

(@) Design solutions

(D) Interfaces with third party software

79. Which of the

Tolovwing alier ot I8
ol by B alporithmes can
el elontly find wheller &

el
yele ds presoy N a piven praph ?

(A)  Prim’s N
Algorith,

(B)  Breadth First Search

\’;(C} Depth Fipst Search

(D) Kruskal’s Minimy

m Spanning Tree
Algorithm

A Software Requirements Specification
(SRS) document should avoid discussing
which one of the fol.lcnwing ?

(A) User interface issyes

(B)

Non-functionaj Tequirements

Business-logic layer

Interface layer

Mimm Spanning Troe

ction of uP‘-F’ > erory
ectld

qtoe COrrettnt Hammin ) Wi
g2, To ;".Il;-\::::::"n" Il|]wI ml:;m:;?,:; st g 45 Iy
f : 3
:lr:nlnn“' a8 (A
(E
11 Ly
(A) /
v ]
(B & ;
(@ 2
86.
(D) 2
i is correct
Which of the follo‘:;";nguickSmt 5
- recurrence for worst ca
o(1
(A) T(n)=Tn—4)+T@=2)F ()
B) Tm=Tn- 1) +T(0) + O(n)
<
(©) Tm)=2T(n/2)+O(n)
87.
= 2) + O(n) ! ’
(D) T(n)=4T(n/2) , ¢
i i blic
84. The static keyword word is use_d u;‘l?;l_
" static void main() declaration in J :
call to
(A) To enable the JVM to make S =
N the main(), as class has no

instantiated.

(D)

A/Page 14







: we ey

'birta-ry trig erﬂ;;m n ordey Waversal on o
ST THG frae is e ascending order
A Heap g

Almost comple

\/(C) Binary Search
(D)

te binary tree

94, Shift reduce Parsing cap,

also pe called as :
\/(A) Reverse of the Righ
(B)
(©)

t Most Derivation
Right Most Deriva tion

Left Most Derivation
(D) None of the Options

95. The Touter ¢,

befanging = ble Containg addresges
————— Protocol(s).
\/ (A) a single
(B)  two
(©) mul tiple

(D) none of the options

96. In an undirected 8raph, if we

degrees of a]] vertices, it jg -

(A) odd

add the

B) even
B
(©)  cannot be determined

(D) always n + il

Where n jg number of
nodes :

functiona]

constraints,

Domﬂin

fere
u {ency and re ;
lependency
;J;n!rcial forms of ____ —

(A) Foreign key

(B) Primary key

ertion
(C) Asse >
v(D] Referential constrain
i ble

.@ i ticular ta

When retrieving data in at Ezr
: e

in PostgreSQL, we use

statement.

(A) \dt

() ORDER BY

(C) SELECT FROM

(D) \i

i 5 blue
/;;\) A bag contains 10 white balls and 5

i the bag and its
/ all is drawn f-ro‘rn )
S A zl'::oted. This ball is put back in the
;Olgm;dlcsmg with 3 more balls of the same
a

pCBaCC

A/Page 16 SPACE FOR ROUGH

: S
color. A ball is drawn agE}m frox:t ﬂi‘.:l: ﬂ:sgt
at random. The probability thinh e
ball drawn is blue, given that the
ball drawn is blue, is :

1/3

3 .

(A)
(B)













